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1 . Schrodinger wave WYHAHRIFIYAYAREEHCBm ‘can be expressed as -

2 2 2y &2l fr—
81|;+'c) \|f+8 \|;+815 mlE-V]

1 =0
M x> oy’ Azt W M
2y Py vy Snn}[E—V]
2 +t—t—+ =0
) dx? ay2 dz? W v
3) Py 2%y v SRZm[E—V]W _o
ax?  Pr A h
2 2 2 2 0 1
@ a\p+8 w+aw+8nm[E L]w?_:o

| x>t 2zt W
TREH g % fg ATy air wede frdl s wedt ® -

2 2 2 2l E -
J 11,!+a 11!+8 w+8n: m[E-V|

(1) y =0
ey ot W

oty %y 9%y Smm[E-V

@ T¥.2¥, 0, ST,
ox°  ody° oz h

vVt Sus ety teferirdle rig

g x By2 9zt h Y

2 2 2 2l —

@ v, v v smmlb-V] o

ax? 3t W

2 Neiutron was discovered by -

(1) I1.]. Thomson (2) Chadwick
(3) Rutherford (4) Priestley
Y B ATRIBR B a4 — |
(1) o . e Q) TR
(3) TWWE 4 U
01_A] 2 NI Contd...
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3 A subshell with /=2"3 {RREs dymaterials.com

(1) 5 electrons - (2) 3 electrons
(3) 8 electrons @) 10 electrons
[=2 9 ST o T & —

(1) 5 TREM (2) 3 e
(3) 8 FEEM - @ 10 TEA

4  The density of nucleus is equal to -

() 10° kgm3 2y 1010 kg m?
3) 1017 kg3 @) 10Bkgm3
i @1 T BT § -

(1) 105 kg m3 ) 100 kg3
(3) 107 kgm3 _ @) 102 kg m3

5 The element with highest ionization potential is -

(1) Oxygen - (2) Nitrogen
(3) Carbon , (4) . Boron

Siftrpam e R e @ ¥ -

(1) i Q) TR
3) @ @ A

6 The. elements with atomic number 18, 36, 54 and 86 are all -

(1) Light metals (2) ~ Inert gases
(3) Halogens (4) Rare earths
Y aa Tt qeay e 18, 36, 54 oiC 86 ¥, @l ¥ —
(1 = Hrg - (2) wa T
(3) T OBECLR G
01_A] | -3 HRUERI (Contd...
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7 In a given shell, the Sy %%f@éme%ﬁ%&oiﬁ -
1) s>p>d>f L@ frdep>s
(B) p<d<s<f @) d>f<s<p
fog T T w A YA T B E E
() s>p>d>f @ frd>p>s
B) p<d<s<f | 4) d>f<s<p

8 Which of the following has no unit ?

(1) Electronegativity (2) Electron affinity
(3) lonization energy (4) Excitation potential
= o feuet o bR IE eR 7

(1) ferga womerRan (2) TR YT

(3) o S ) SR o

9 Which pair of electrons represents s-block elements ?

(1y. 7,15 ) 6, 12

G) 9,17 @ 312

Fe Qg B B ED ISR c-ned Regommmsi | By gaiia
BT 7

(1) '7, 15 (2) 6,12

(3) 9,17 _ . 4 3,12

10 Which ion has the lowest radius from the following ions ?

(1) Na* ' (2 Al
(3) Mg? | @) st
Syt o ¥ B-Y ST B R o ¥ 7
(1) Na* @ AP
(3) Mg™ (4) Sit
01_A] - 4 . A [Contd...
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11 The correct order of second ionization potential of C, N, O and F is -
1) C>N>0>F @) O>N>F>C
(3) O>F>N>C 4, F>0>N>C
C,N, O ok F % filtw st fawel o =t s @ -
() C>N>0>F 2) O>N>F>C
3y O>F>N>C : 4 F>0>N>C
12 Which one of the following arrangements does not truely represent the
property indicated against it ?
(1) . Br, < Cly < F, ; Electronegativity
(2) Bry, < F-z < Cl, ; Electron affinity-
(3) Bry < (Cl, < F,; Bond energy
4y Bry, < Cl, <F, ; Oxidizing power
ﬁwﬁﬁﬁaﬁa—-—wwwﬁm&aaﬁqgﬂweﬁﬁﬁfﬁaﬂﬁ
Cac I
(1) Bry <l < T, ; REgd womesa
) Bry < Fy < Cl, ; g 4
(3) Br, < Cl, < F, ; 3 il
(4)  Bry < Cly < I, ; STFEIchT0T AT
13 When /, is passed through KC/, KF and KBr ?
(1) Cl, and Br, are evolved '
- (2) Cfy 1s evolved |
(3) (i, Bry and F, are evolved
(4) None of these _
W I, B KCI, KF Ud KBr ¥ watsa fan s &
(1) Cl, w& Br, Fraed ¥ ' |
(2) CI, Feaal ¥
(3) Cl,, Bry, @& F, Fepw %1
(4) I BE A T |
01_A] 5 BN (Contd...
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Which- one of the following in most acidic ?

14
(1) 450, () Na0
(3) MgO @ CaO
TTH U S Uh 999 3w o ¥ 7
(1) AL, 2) NayO
(3) MgO . - @) CaO
15  Which of the following has the highest lattice energy ?
() KF
(2) CsF
(3) NaF
(4) RbF
T @ frg U @ TIHe el & AW S ¥ 7
(1) KF ’
2y CsF
(3) NaF
(4) RBF
16 The bond length in Oy, 07 and Oj species follow the order -
(1) 05 <0,<05 (2) 05 <05 <0,
(3) OF<0,<0; 4) 0,<05 <03
0,,0F 3R 0; Wt § T4 T & HH § —
(1) 0, <0,<0; (2) 0;<0; <O
(B) 05 <0,<05 @) 0,<05<0;
01_A] o 6 NI (Contd...
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17 PCI; exists but NCI5 does not because -

(1)
@)
(3)
(4)

Nitrogen atom has no vacant 2d orbital
NCI5 is unstable _
Nitrogen atom is much smaller than 'P' atom

Nitrogen is highly inert

PCI; oM (exists) & WX NCI =& uran St i —

(D
03
)
4)

Ao Tea] W e 2d e TR T S |

NCI; oreardl i

G T BB TR & g § agd s 3
AT St sifpanane ¥)

18 Which of the following contains polar (electrovalent) and non polar (covalent)
bonds ? '

(0
3)

CH4 (2) HEOE\
NH,CL 4y HCN

Frer % & Prw § ydr (o) ©F ogd (GEddeTE) T SuRed ¥ 7

(1
)

CH, 2) Hy0,
NH,CI (4) HCN

19 The O-O bond is strongest in -

(D)
(3)

0, | @ 05

05 @ . 05

Frifea & e o @99 WeW 0-Q 99 ¥ ?

(1)
(3)

0, . 2 O

o0 @ 05

20  The structure of NaCl crystal is -

(1) Body centered cubic (2) Face centered cubic -
{3) Octahedral (4) Square planar
NaCl foreee & d3a & —
(1) ofa: &fga @9 (B.C.C.) (2) wwe siwd ¥ (FC.C)
(3) orTwTE 4) =t gHaEa

01_A]

7 MR [Contd...
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21 The coordination number of body centered atom in cubic structure is -

(n 4 (2) 6

3) 8 | 4 12

o K oRe Hiwd TN & SUEeEEeE ged a -
(1) 4 2y 6

3) 3 @ 12

22  The mass of a unit cell of ('s(’/ corresponds to --

() 1¢st ‘and 1C1 2y 1¢st and 6CI
(3) 4Cs* and 40T (4) 8CsT and 101
Cs(ff?ﬁqiﬁaﬂiﬁﬁﬁa?fﬁﬁwﬁ

(M 1Cst T 10T F 2y 1CsT W 6CT &
(3) 4Cs*t W& 4CT % @) 8Cs* wd 10

23  The tetrahedral [C(;]4]2__ and square planar [PdBr4]2_ complex ions are

respectively -
(1), . Low spin,-high-spin (2) . High soin, Iow_spin
(3) Both low spin {4) Both high spin
- . 2— . R
?-I@G'Fﬁ?ﬁl'q [COL;]Z ud TiETa [de’q] Upd HHsT: ¥ -
() T wamm, I W (2) FEd womw, T g
(3) o= & v wEEme (4) A & I IR

24 Consider an orthorhombic unit cell of dimensions « =450 pm, & = 650 pm
and ¢ =400 pm. The perpendicular distance between the (1 1 0) planes is -

(1) 650 pm (2) 450 pm
(3) 370 pm {4y 500 pm
e e W umhe W % Tt BT fEE o = 450 pm, b = 650 pm T
¢ =400 pm %1 FE (1 10) a0 @ wegadq gl e - '

(1) 650 pm (2) 450 pm
(3) 370 pm ' (4) 500 pm
01_A] 8 - [ {Contd...
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25 The C-C bond length is diamond is 154 pm, the edge length in pm of the
unit cell is -
(1) 154 x4 2y 154 x2
() 154x42 (4) 154x4/3
A C-C o9 We1g 154 pm ¥ | Thd 9 @] &I @9 pm § el —
(1) 154'x 4 (2) 154 x 2
(3) 154x42° @) 154x4/\3
Y 3 .
26 [C 0 (NHf‘)ﬁ] ion has hybridization -
(1) dsp? .
2y disp?
(3) spid?
@ sp?
o Il +3 o
[Co -(NH3)6} I H e B -
(1) dsp?
2)  dapd
(3) spid?
@ sp?
' 1 RCE
27 [Nf (CN)__J ion is
(1} Tetragonal (2) Square planar
(3)  Octahedral (4) Tetrahedral
1 2 |
LECORRE
(1) femw ww=ne (2) =t TR
()  SEEEEE (4) =g
oAl 9 IWMIIBH [Conta..
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29

30
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The sequence in which metals of groups 8, 9 and 10 form the first triad is -

(1) Tron, Nickel, Cobalt .

(2) Nickel, Cobalt, Iron
(3) [Iron, Cobalt, Nickel
(4) Cobalt, Nickel, Iron

LOLREEECICECIC RS 9@10w%a@aﬁmagﬁqam—
(1) omas, P, wEwe
(2) T™&d, BEwE, HAEAA
(3) S, WEwE, b
@) wEwe, M, aEE

"Paramagnetism" is the property of -

(1) Paired electrons

(2) Completely filled electronic subshells
(3) Unpaired electrons

(4) Completely vacant electronic subshells
“grEEE T TETE ST SR -

(1) g sl @ |

(2) | g WYX gelelives SHemIen €I

(3) orghud sl BRI

(4) i o e Swsel ara

The EAN of metal atom in Fe(CO), and Co,{CO), respectively are -

(1) 34,35 (2) 34,36

(3) 36, 36 @) 36, 35

Fe(CO)s wd Co, (CO) ¥ ug tmmaﬁ F gl T e (EAN)
FAM T -

(1) 34, 35 | C(2) 34,36
3) 36, 36 (4) 36, 35
01_A] 10 WL [Contd...
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31 Which one is not paramagnetic ?

1y Ce® @ P
(3) Na® 4 Lu"
P ¥ F BT OF ST T § 7

(1) Ce®? , (2) PpPrt
(3) Nd*? 4 Lu®

32 Which one among these 1s colourless ?

(1) La*3 (2) Ce*t
(3) Eu?? | 4y Yb*2
T W B UE TEEA T ?

() La™ | - (2) Cett
(3) Eu'? - @) Ypt2

33  Lanthanide with highest basicity is -

(1) Cet3: ) La®
@ P (4) Nd*?
ol ARG 9 AeEEs ¥ -

(1) Ce*3 (2) . La'*?

- (3) Pt (4) Nd®?

34 Following statement is not true about carbene - |
(1) sp? hybridized .
(2) Electrophilic
(3) Nucleophilic
(4) Highly reactive
wR % fag Faifes d—@ o aa W ¥ 2
(1) sp? @i (hybridized)

(2) AL (FeraSiniem)

(3) TihwERl (Rfrreiefi)
4) afumaw feomgle

01_A] | n ARG [Contd...
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35 The right order of stability of free radical is -

(1) CHy>(CH3),CH >(CHy),C
@ (CHs),C>(CH;3),CH >CH;
@) CH;>(CH3),C>(CH,),CH

@) (CH3),C>CHy>(CH;),CH
TR At & TR & 98 ®wh ¥ -

(1) CH;>(CH;),CH >(CH;),C
(2)  (CH3), C> (CH3), CH> C..'H3

3) C.‘H3-.>(CH3)3C.’ >(CH3)2éH

@) (CH;), C> é'H3 >(CH4), CH

36 In SN! reaction there is -
' (1) Walden inversion
(2) Second ‘'order rcaction
(3) Nucleophile attack from backside
(4) First order reaction

SN el # ¥ -
(1) awsT i@ @) Tl wife sfifsan
(3) UL THBHEE ATHAT (4) wuw wmife afule
37 Pick out the correct reducing agent for "Clemmensen reduction” -
(1y Zn-Hg/HCI : (2) Na/CyHsOH
(3) NaNH, _ 4) AICL/HCI
e e H Wl oeR wiw gt -
(1) Zn-Hg/HCI (2) _Na/C2H5OH
(3) NaNH, ' (4) AIChH JHCI
01_A] 2 [NUHIEN LContd...
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Identify that which one of the following compounds is not opt.ically active -

(1) CH;-CHOH -COOH

(2) CH;-CH,-COOH

3) HOOC —CHOH .- CH,COOH

(4) CHy-CH(NH,)-COOH

Prer % @ B e R a8 ¥ 7
(1) CHs—CHOH —COOH

(2) CH;-CH,-COOH

(3)  HOOC —CHOH —~CH,COOH

(4) CH3—CH(NH,)-COOH

Which one of the following functional groups is identified by “Mulliken Test" ?
(1) Acetyl derivatives '

(2) Sulphonic acid group

(3) Nitro group |

(4)  Aleoholic group

“Hiaaa Tda e § o U Rew fRatme wig Bf UEdN s ¥ 7
(1) udfed Fga=

(2) TG IFE TE

() ER wE

(4) UwHETS g8

Glucose does not react with

(1) Schiff's reagent (2) Fehling solution

.(3) Tollen's reagent (4) Hydrogen cyanide (HCN)

e’ T ¥ ¥ fead Rean i e ¢
(1) e eiiirds (2) Wi famew
(3) <o aifterds (@) wEsE gEEEs (HON)

0L_Al | 13 NG (Contd...
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Which is the most aromatic in character among the following 7 -
|| T o [ ]
S

(3) “ ” . (4) All having same aromatic character

ﬁ"*l’lﬁﬁff@t'cﬁ? 1 o1 walfes YAATEH o ( character) qel ¥ ?

||jl o]

(3) “ ” (4) ot wf ¥ T UM TR g
42  Toluene when reduxed with Bromine in' the preseice of light gives mainly -

(1) o-bromotoluene

(2) m-bromotoluene

(3) o- and p-bromotoluene

(4) Benzyl bromide

msna?rwﬁuﬁfﬁfz‘i@:raﬁaﬁ?%ma (reﬂux)aﬂerﬁmg@

e & —

(1) o-wmrergd

(2) m-FAEET

(3) o-Wd p-SMIEEH

@) = THES
01_A] 14 [IENEL {Contd...
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43 Carbolic acid is - :
(1) Phenyl benzoate (2) Salol
(3) Phenyl acetate (4) None of the above
et o & -
(1) Wi Iige 2) w
3) W tRree () 9w F FE T
44 . When,CH, =CH —COOH is reduced with LiA/H,, the compound obtained
will be -
(1) CHy-CH,—-COOH () CH,=CH-CH,0H
() CHs~-CH,~CH,0H @) CHy-CH,-CHO
w8 CH,=CH-COOH & LiAlH, g suei R s & @ Wi
aqtts ¥ -
(1) CH;-CH,-COOH (2) CHy=CH -CH,0H
() CHy~CHy—-CH,OH (&) CHy—CHy—CHO
45 In the given reaction
Glucose +3CgH s — NH — NH, LM) Osazone + A +RB.
A and B are - :
(1) CgHsNH, and NH,
(2) C4HsNH, and NH,OH
() CgHsNH - NHOH and NH
(4) NH,OH and H,0
i W+3c:6HS—NH—NH2—ﬁl@—» s+ A + B
FATIBE -
(1) CgHsNH, T8 NH,
) CgHsNH, T8 NH,OH
(3) CgHsNH —NHOH W& NH;
@) NH,OH wd H,0
oAl 15 AW [Contd...
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46  Which one of the following is not correct for sucrose ?

(1)

3)

)

Hydrolysis of sucrose with dilute acid yield one equ1m01ar mixture of
D-Glucose and D-Fructose.

Acid hydrolysm of sucrose s accompanied by a change in optlcal
rotation.

The ‘glucosidic linkage in sucrose is in between C-1 of glucose and
C-2 of fructose.

Aqueous solution of fructose exhibits mutarotation.

Frer & & FF-91 0% BuR g & e ¥ wd Al ¥ ?

(1

(2)

47 The

(4)

gﬂﬁawaﬁ)m@raﬁﬁwﬂmw@mﬁm%m%D@H@
D-gEs |

gﬁw%mmﬁuaﬁw%mum&mwﬁﬁﬁuﬁaﬁ@m%:

R F T T (iR ) T % C-1 U e &

C-2 % 77 B §
T B S e aiedt et i (Jgerieer) weiia s ¥

regonance jeneray of follo wing hererpeyoles lis in-ordsm-

Pyrrole > Furane > Pyridine
Furane > Pyrrole > Pynidine
Pyridine > Pyrrole > Furane

Pyridie > Furane > Pyrrole

et Rrevespla (RZamifiem) sl @ o e Sel @ Be ¥ -

M
2
()
(4)

01_A]

TEOE > W > e
T > W > idE

fidm > omde > W
REH > = > IR

. NI 1 Contd...
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48  Following group is present in detergents -
(1) —S0,0 Na* @ 50 -
(3) Both (4) None of these
st § Frer wnE suRuw ¥ -
1) -s0,07Na" (2) —SO,0"Na*

-(3) i (4) Tuded B ) 99

49 The acid value of an oil or fat is measured in terms of weight of -

(1) NH,OH ' (2)  NeaOH

() KOH 4 CH.CQOH

9 T & R o P A el o ko
(1) NH,OH @) NaOH

(3) KOH 4)  CHCOOH

50 The “Todine value™ of an oil indicates -
(1)  Tts boiling point
(2) Inflammability
(3)  Unsaturation present- in acid content
(4 Solubii‘ity of salt in oils
(1) o=
(2) vawAsieEn
(3) o % siwr (Us wRe) A emEgTE
(4) @ A T @ o

01_A] 17 NI [Coned...
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Wz;x are long chain compounds belonging to the class - -

www.upscstudymaterials.com

51
| (1) Acids (2) Alcohol
(3) Esters ) 4 Ethers
T - (Wax) ﬁég@wﬁrﬁ@%ﬁﬁﬁﬁﬁwﬁﬁmaﬁ%aﬁfhﬁ%—
(1) o o () T T
(@) et (4) T e
52 Which one is-not a glyceride ?
(1) Fat (2) oil
(?;) Phospholipid (4) Soap
fe A ¥ B e Pomags w8 7
(1) == . Q)
(3) walE @) HIgH
53 Polythene is -
(1) Thermoplastic
(2) Thermosetting
(3) Both
{4) None of these
wfeeE € -
(1) eieies
(2) iR
(3) SadE I
@ T A @y T
54  An example of chain growth polymer is -
(i} Nylon-66 (2) Bakelite
(3) Terylene (4) Teflon
JEa ghe TEED B IR T — |
. (1) TEEe-66 (2) SehwEE
@) T (4) THEAN
01_A] 18
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S5  Which of the following is not a synthetic polymer ?

(1) Polyethylene - @) PVC
(3) Nylon (4) Cellophane
et % & B-w ww dvoia (Fhm) Tgaw T8 ¥ 2
(1) deie= ) Gl (Pve)
(3) e (4) Were

56 Acrylic resins are -
(1) Colourless and transparent’
(2) Dark brown and thermosetting
(3) Dark brown and thermoplastic
(4) White like milk
Torsfores T () ¥ -
(1) TN ud grasf
(2) TEU U ug epaidT
(3) U W T g
(4) T W@ 9

57  When the effective magnetic field experienced by the nucleus is less than

that of the applied field [Heﬂ < HO:I the nucleus is said to be -

(1) Deshielded (2)  Shielded

(3) Relaxed ‘ (4) None of these

UF TR T e fear T el gl A, sgyge A @ @ ¥
[Hep <Ho| & it adr wih % —

(1) enfcia Q) R
3) fag= (4) IYUTT HE TE
01_Aj _ - 19 | AN [Contd...
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58 What is ROM ?
(1) Permanent and primary memory
(2) Removal and secondary memory
(3) Permanent and secondary memory
"(4) None of these

ROM @ & ?

(1) = o) mates T80
) amEiE o fixims =l
(3) @l el T A
@ T @ =y &

59 The "Law of Photochemical Equivalence” was given by -
(1) Drapper (2) Grauths
(3) Einstein (4) Lambert
Tl YA e w1 e T T A -
() S &« 2) Te@
(3) OEEEEA T @) W= T

60 The reaction, CHy;COCHj -—LCH_; —CH4+CO s called -

(1) Norrish type reaction
(2) Photoreduction
(3) Petrno-Bucchi reaction

(4) Norrish type-I reaction
CHACOCH; — 3 CHy ~CH3 +CO
Sl affea s & -
(1) <y wBR @ afaisear
2) vohT swEEE
(3) Tg-gan IHihaT
(4) e wa-1 arfafem
01_A] 20 MY IContd...
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61 The quantum vield ¢ for reaction- Hy + Bry > HBr s -

(1) 106 ‘ @) 2
G) <l 4) 107

SHRET K,y + Bry — 52 By ¥ W Wikt ¢ a1 W @ -
(1) 108 , 2 2
(3) <i (4) 10.7

62 A substance when dissolved in water at 103 M concentration absorbs 10%
' of incident radiation in a path of 1 cm length. What should be the
concentration in order to absorb 90% of same radiation ?

(1) 0022
(2) 1073
(3) 0.04

(4) 0.00218

o e A W A 10 M qE o G A 1 om o g ¥ a8
10% smmafeRt ferferror ormsifya wear &1 ufy o= fafseolt @1 90% ot
ot wg & gwsa @ 99 @@ e 7

(1) 0.022
2) 1073
(3) 0.04

(4) 0.00218

63 pH of a solution is 5. Its hydroxyl ion concentration is -

(1 5 ) 10
@) 107 @ 107 |
T e @ pH @1 99 5 ¥ gue) srsitae oaT o e B -
I s (2) 10
(3) 107 4 10°
OL_Al 21 E WA [Contd...
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64 Standard electrode potential for following half cell reactions are
Zntt 1 2e” ==7n E°=-076V
CEBett +2¢" —=Fe, £° =-041V

EMF of the cell reaction is -

(1) 035V (2) +035V
(3) +1.17F 4 -117V
fr aeflw afufpmet % g wvia gaegs fawa 3

Zntt +2e —=——=2n, E° =-0.76V
Fett +2¢e  =—=Fe, E°=-041V

4w aifufteer &1 EMF & — _
(1) -035V (2) +035V
(3) +1.17V | 4 117V

65  Solubility product of BaCly is 4 x 1072, Its solubility in moles / litre would be -

(1) 1x1073 2) 1x107?
(3) 4x 10727 @ 1x107%7
BaCl, @ Taeraen w4 x 1072 ¥ | sue fadad dw/ivex 9 @ -
1 1x 1073 () 1x.107°
Gy 4 X6 4y I

66 Which of the following is the strongest base ? _
(1Y CH3COCH; - (2) CH3CH =CH,

0 _ ' 0O

(3) é (4) | ]

H,C CH,
ﬁwﬁﬁiﬁﬂ—mﬂa@rmm_% ?
(1) CH3COCH;, . ) CH3CH =CH,
0 0
o () o [
| H.C O CH,
0LAl | 2 B Coned.
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67 . A salt made up of bivalent ions X and Y each of which is capable of
decolourlsmg acidified KAnO, solution. The salt is likely to be -
(1) Stannic chloride (2) Ferric sulphate
(3) Ferrous sulphate (4) Ferrous oquate
Xud Y iR stita KMnO, famast @t e & & wud ¥ g ues s
(divalent) w=w yr<y e T@m @ gwilRa waw g -
(1) wfe wEs (2) BRw awhe
(3) W@ Teke (4) g atwme
. ) ) SE N .
68  The variation of £ _,; with temperature i.e. 57 ). 8 equal to -
P
AS AH - AG
1 — 2y —
M nkF ) @) nffT
AH | |
E-— /T
(3) [ P J / ‘ . (4) Al of these
| S8F
Eo; @ @9 AT ¥ 9a@M@ (variation) srefg 5T )y T ¥ -
< AS : AH - AG
1 ] 2) —
M nk ,( ) nkT
A .
(3) [E~ j/i’” :d (4), TqEm ol &
L J
6% The concept of fiy2 s useful for the reaction of -
(1) Zero order (2) First order
(3) Second order (4) Al order
2 aﬁwnﬁwrmﬁﬁm%ﬁ-rqwﬁrﬁ—
(1) o =ife (2 WA &
() T @i 4 w Bife & fg
70 The unit of 'Rate of reaction' is .
(s (2) moll]s!
(3) both above (4 molF! 51
sifferar X # g & - |
(1) 57! (2) mol'llst
(3) wUlwE & 4) mol IF! 51
01_A] | 23 NG (Contd...
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71  The initial concentration of two reactants is same for a second order reaction.
In 500 seconds 20% reaction is completed. In what time 60% reaction will
be completed ? '

(1) 2000 sec. _ (2) 3000 sec.

(3) 1000 sec. (4} 500 sec. |

w Rty @ A afite X Al e A ahe W wEE ¥
T@F 20% Yo B F 500 YHvs W ¥ AA@RY 60% Ul wH A e
qHT &0 7

(1) 2000 Y&vs O (2) 3000 S

G) 1000 FgwE 4) 500 7S

72 The effect of temperature on the rate constant of a reaction is given by -
(1) Arrhenius cguation
(2) Nernst equation
(3) van't Hoff's equation
(4) Gibbs' Helmholtz equation
ue it  am e sl ax Reds w W 9y B R -
(1) emira g '

(2) & gdimm
(3) aT= &% GHEHT :
4) Trem FwEe eHm

73 For the reaction PCK+Clh 7= PCl; | the value of K- at 250° C is 26.
The value of K at this temperature will be - *
(1y 0.6l (2) 0.57
(3) 083 (4) 0.46
afafisar PO+ Cl === PCls ® 250° C aTrT 9T K- &t 79 26 2
TET AT T K T AT EFW -

(1 0.6l (2) 057
(3) 083 (@) 046
01_A] 24 MR L Coned...
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74 The: radicactive substance has a half life period of 5760 years_. The 100 mg
of ‘the sample will be reduced to 25 mg in -

(V'y 11520 years {2) 2860 years

() 1440 years .(4) 17280 vears

o X wlea agref @ 61‘25.61@ 5760 af &1 38F 100'my H‘qff Wl 25 mg
W w9 (HU) s —

) 11520 a9 & @) 2860 i ¥

(3) 1440 af ¥ ) 17280 99 ¥

7% The relation between AE and AH is -
(1) AH=AE-PAV (2) AH=AIN+ DAV
(3) AE=AV+AH (4) Alv=AH + PAV
AE T3 AH % 19 g9 T -
(1} AH=AE-PAV (2) AH =Al+ PAV
(G) AE=AV+AH @) Af=AH+PAF

76 In an isothermal process -

(1) \G=O\VAE=0 ) LG40 A8 =0
(3) ¢=0, AE=0 ' 4) g#0, AlLz0
o TR

(1) ¢=0, AE=0 2) ¢#0, AE=0
(B) ¢=0, AE=0 @) ¢#0, AE#0

77 Mixing of non-reacting gases is generally accompanied by -

(I) Decrease in entropy (2) Increase in entropy
(3) Change in enthalpy {4) Change in free energy
T R W @ Al et @ frer ux g g ¥ -
(1) o= (2) u=Hn | gfe
() AW ¥ ufEdw (4) Taa T N uftads
01_A] 25 IHHRIY [Contd...
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For adsorption AH 1s -
(1) -Positive (2)
(3) Zero (4) None of the above

Negative

- el % fa Al T E -

(1) s (2) O

79

80

(3) o

Choose the wrong statement -

G _ - (29) .
o (5 =" @) \aTJP__

' : - [9(6) } -H
aSy _(9P T -
©) (av]f(arl,- @ {er |, 1

T HET BT G hINg —

» JEDW(ED " E(_?.-‘z-] 8
3) "’\BVJT T Jy ST P

Gamma rays are -

() T'High enérgy electrons

(2) Low energy electrons
(3) High energy electromagnetic waves

(4) High energy positrons

- ey Reeef ¥ -

(1) = T & o
2) P o & W
@) v oo % Rge TR A
4) v wA F Al

s o

01_A]
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24
81 The B decay of HNa will produce an isotope of -

(1) Na 2y Mg

(3) Ne | @ F

TfNa B P Al | R em W i IR B —
(1) Na (2 Mg

3 Ne @ F

82  Nuclear energy is based on the conversion of -
(1) Protons into neutrons
(2) Mass into .energy
| (3) Neutrons into protonsl

(4) Uranium into Radium

T =t e Red ww aieds o anuaiE ¥ -
(1) W& FEm o

(2) usfa & 91 W

(3) ~EF & Wew H

) qXPrm % Yo ¥

83  Which has the least penetrating power ?

(1) [B-rays | (2) o-rays

(3)  Y-rays (4) X-rays

it & fhmall 9w evran (penetrating power) W98 HH ¥ 7
(1) BT @  o-fe

'(3) Y Rt . @) X-faeof

oLAl 27 IEIEHI (Contd...
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84 The blank (?) in the following equation

233

92

90
K

M 3

91

(3). 36Kr

Fr=ifera wiezon
2

a 90
36
‘qy Ng
;
G 5

1 142 1
U+ =7+ Ba+2 nis -
0 - 56 0

(2)

)

(2)

Q)

92
K

36

92
38

35 1 142 1o
Ut n=7+  Ba+2 n ¥ femem (7) ¥ -
92" 0 56 0

92
K

36

92

Kr
38

83  The type of isomerism- present in the compound

H5C H
\(C = C( is e

Br” ST
(1) E @) Z
(3) Both Eand Z (4) None of these

HC M |
dfiem . C=C H guEREdn ® YE § -
Br” Nl
I £ 2 z
) IRETE Z (4) i o T
86 Lactic acid molecule has -

(1) One chiral carbon atom (2) Two chiral carbon atoms
(3) No chiral carbon atom (4) . An asymmetric carbon atom
Wfrees ot % o) H B ¥ -
(1) T @ wes Iy (2) = feYE HEE TR
(3) &% fol wET T W (4) UH @A e uR

01_A]
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87  Addition of Bry to Cis-2 BRSS! ihn E}\exgaés'ﬁ?gauct which is -
(1)  Achiral (2) Racemic
(3) Meso ’ =(4) Optically active
fe-2 =78 ¥ Br, @ do (addition) FTY W A v M -
() sfp@ 2) Yl |
(3) e (4) VSN dicpd
88 In the Fischer projection formula, the representation of meso-butane 2, 3
diol is -
(1) in its staggered conformation
(2) in its eclipsed conformation
(3) in the gauche conformation
(4) unrelated to the conformation _
A =27 2, 3 s ¥ R wdw g (Reew s ) TEiE
B & —
(1) oo TEnT G809 (7 )
(2) TEH AXE Tew (Thrme HHUeE)
(3) syl fawmaell @mam (N9 HwdE)
(4) HEUU g rEeieE
89  Number of chiral carbons in B-D~{+) glucose is -
(1) Three (2) Four
(3) Five G LR (RS
B-D—(+) g ¥ frYw @ @ dem § -
(1) = (@) WX
¢G) dfa | @ =
90  Which of the methods cannot be used to determine constant errors ?
(1) Personal errors
(2) Operational errors
(3) Instrumental and reagent errors
(4) Erratic errors :
ﬁﬁ@ﬁ«@ﬁﬁﬁﬁ%ﬁﬁ%g&%ﬁﬂhﬂﬁmﬁwﬁﬁ
o s wwar ?
(1) =fcm gfai (2) diears  Ffem
(3) b ofk afrwdw gfail () wfw Fmi

s 29 AN (Contd...
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91 NiS is separated from Zn§ by treating with -
(1) NaOH | — ' (2) Concentrated HC!
(3) Yellow ammonium_:sulphide (4) Aqua-regia
fr N & Tpad 9y REa B W NS W ZeS ¥ guw a1 S & 7
(1) NaOH T (2) arx HCI
(3) st omfEm denEs (4) oraet (g )
92  In borax bead test which compound is formed ?
(1) Orthoborate (2) Metaborate
(3) Doubleborate (4) Tetraborate
germ Tfem wlaw ¥ Fre A @it o 7
(1) offgiane (2) HEERE
¢) TRz (sww@ Q) @) Ere
93  The closetiess of a result to its true or accepted value is -
(1) Precision ~ (2) Accuracy
(3) Median (4) None of these
Rpdh wftorm @ sE T o W A afwer il ¥ -
(1) -ty (2) T
() e (FEE) (4) ST W T
94 A determinant error can be evaluated -
(Y Experinernially (2, | Thecretidally
(3) By both methods {4) Can not be evaluated
ue ol 3R () @A aw e oo ¥ -
(1) W g - 2) == w0 ¥ (e =)
(3) S IE I & (4) W™ TG TE VA S wwdl
95 The colorimetry analysis is based on Lambert's law which is -
(1 1y=110"% @ Iy=110"%
B =107 @ 1, =10tN
Fuiffy Rrgeraor e P we onafa ¥ A R -
1) 1y=1p07% @) Iy=110"
@ 1,=1107% @ 1, =1510"8
01_a} 30 Il (Contd..
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96 The position of migrf¥¥¥: %%%%Stggynﬁ%t }%I%arpograms are indicated by R;
(migration parameter) which is -
(1) It is migration of (solution to solvent) front
(2) Tr is migration of (solvent to solution) front
(3) Tt is migration of (solvent to solute) front
(4) It is migration of (solute to solvent) front

m{ﬁmﬁﬂﬁﬂﬁﬁaﬁaﬁﬁaﬁrm(@ﬁﬁmﬂ@ﬁ)%mﬁmh
HA T, |WE -

() (s =1 faams) we § GTBFTEH

2) (TR & fawae) we ¥ s

(3) (fenas & Gea) we ¥ s

@ (g = Rems) we o s

97  What will be the effect -of addition of organic material on water ?

(1 COD remains unaffected (2) BOD remains unaffected
(3) Increases BOD (4) Reduces BOD
HEE TG B T F qeE F Ty g2 ?
(1) COD s ' (2) BOD i
(3) BOD & | (4) BOD g
98  Water hardness is; expressed in - :
(1) ppm (2) mgll
(3) °Fr and °Ce ~(4) All of these
ELEETECIC I CE L T
(1) ppm¥ (2) -mgl¥ )
(3)  OFn TR 0 e .’_4) SO FET A
99 The term "Artificial Intelligence" (A]) was coined by - iM_H“ o
(1) Von Neumann (2) Charles Babbage
(3) Japanese (4) John McCarthy
Il g=aaa (Hhm ggran) s Rean T an -
(1) @ J&W &a (2) T 9= T
(3) I R (4) i " Bl ERe
100 11001, =0
(1) 20y 2) 30y
() 159 @) 259
110012 =?10 .
(1) 2049 (2) 30y
_ (3) 1559 (4) 255
01_A | 31 3 ~ [HEHNWAN [Contd...
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SPACE FOR ROUGH WORK / &1 F % {odl wE
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